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X+y+z=k :
. HEGEMNAL 3x+4y +5z =3k » HRT 51 5kt R % Kk o948 1 [10%]
4x+2y +(k+1)z=>5k

(a) st #8847 - [5%]
(b) st % 464 &% § A% - [5%]

HRQXY,Z)=X"+y +22° -2xy +dyz+4zx B X’ +y* + 22 =1 F @A LT MM : [10%]
(@) % RIQ 6948 A A0 45 A - [5%]
(b) FERERQ AR LR YES (X Y,2) - [5%]

HERFIR Y = ax + D E T M2 (X, y) (-2-3), (-=1-1), (0.1, (11), (23) » FHAZ AN FFEEE43Eamb - [10%]

BRELEFXYy)=€Ycos(x+Y)REP(XY)=(0,7) ' HFEETF 5 12 : [10%]
(@ FHEFEPRARRBILE - [6%]

D) FRBEEAEIG  FEPRHBLEGZLEFABILEH—E - [5%]
EREBREUIFRAY +2YV +2y =r(X) » $HETH M © [15%]

(a) 2 x%e™ (sin3x +cos3x) s HF A4 —EAF - H KR y(X) 49 HAZ - [5%]

(b) & r(x) =1+ x*+€™ +sinx » # KM y(x) 884 - [10%]

X'=2x-y+t
FRAEEFE Y =3x-2y ~1 VR A SRS AT S AR ¢ [15%]
x(t=0)=y{t=0)=0

(@) ¥ RI x(t) S y(t) 5 1 ¥4 7k 60 J 2 X(S) ~ Y(s) - [5%]
(b) 5 R3 x() 1 y(t) - [10%]

y'+ay=0, y=yx), O<x<lL
EEREMM{y(0)=0 Pt THAABHBRME  FRRAATEAT R - [10%]
y'(L)+y(L)=0 :

u, +2xu, =8xy
u(0,y)=siny
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